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QUESTION 1

Which of the following are the primary components to Conga? (Select TWO correct answers) 

A. luci 

B. ipvsadm 

C. cman 

D. fenced 

E. ricci 

Correct Answer: AE 

 

QUESTION 2

DRBD is equivalent to a networked version of what RAID level? 

A. 0 

B. 1 

C. 2 

D. 5 

Correct Answer: B 

 

QUESTION 3

Which one of the following should NOT be used as a lowlevel device for DRBD? 

A. A LVM logical volume 

B. A physical hard disk 

C. A EVMS volume 

D. A loop device 

Correct Answer: D 

 

QUESTION 4

When enabling a resource in DRBD, a common sequence of actions are: 

drbdadm attach resource 
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drbdadm ______ resource 

drbdadm connect resource 

What is the missing command for the drbdadm tool? (Please specify only the command and no other arguments or
options) 

Your Response: 

Correct Answer: syncer 

 

 

QUESTION 5

Which of the following statements are true about hardware virtualization? (Select THREE correct answers) 

A. Hardware virtualization can run an unmodified Guest OS. 

B. Hardware virtualization requires specially configured drivers for virtualized hardware. 

C. Hardware virtualization does not use CPU emulation. 

D. Hardware virtualization can take advantage of Intel VT and AMDV technologies. 

E. Hardware virtualization is also referred to as containerbased virtualization. 

Correct Answer: ACD 

 

QUESTION 6

What command in Red Hat Cluster Suite is used to display the status of the cluster; such as membership information,
quorum view, and the state of all configured user services? 

A. clustat 

B. cman 

C. rhcs 

D. ccs_status 

Correct Answer: A 

 

QUESTION 7

Which CPU flag must be enabled for full virtualization in Xen with AMD processors? 

A. vmx 

B. hvm 
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C. svm 

D. vme 

Correct Answer: C 

 

QUESTION 8

What is the purpose of the Cluster Configuration System (CCS)? 

A. It manages the cluster configuration information file. 

B. It fences a dropped node. 

C. It manages ACLs for cluster service access. 

D. It manages the network topology and settings for the cluster. 

Correct Answer: A 

 

QUESTION 9

When using the user mode network stack with qemu, TCP and UDP connections work fine but ping does not work. Why
is this? 

A. The Qemu user mode network stack does not implement ICMP. 

B. The problem is caused by incorrect routing. 

C. The Qemu user mode network stack blocks all ICMP traffic. 

D. The Qemu user mode network stack requires explicit permission for ping to work. 

Correct Answer: A 

 

QUESTION 10

Which of the following are NOT true with regard to fencing in an environment where OCFS2 is managed by
Pacemaker? (Select THREE false statements) 

A. OCFS2 uses fencing based on the split brain algorithm. 

B. OCFS2 handles its own fencing. 

C. OCFS2 fencing cannot be controlled with Pacemaker STONITH. 

D. With the default settings, quorum is needed in the cluster to run OCFS2. 

E. OCFS2 fencing can be adjusted or tuned through editing its configuration file. 

Correct Answer: ACE 
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QUESTION 11

Which command should be used to make a backup of the current state and configuration of a Pacemaker cluster? 

A. cibadmin Q > backup.xml 

B. crm_mon vvv > backup.xml 

C. cibadmin V > backup.xml 

D. crm_backup 

E. cibadmin E force > backup.xml 

Correct Answer: A 

 

QUESTION 12

With DRBD, how can the state of the disks be checked? (Select TWO correct answers) 

A. cat /proc/drdb/status 

B. cat /proc/drdb 

C. drbdadm dstate r0 

D. drbdadm diskstatus r0 

E. drbdadm state disk r0 

Correct Answer: BC 

 

QUESTION 13

Which one of the following statements regarding quorum in a two node Pacemaker cluster is TRUE? 

A. Quorum needs to be disabled in a two node cluster or else it will not be reliable. 

B. With a two node cluster, quorum works fine. 

C. The default quorum policy in a two node cluster needs to be set to freeze or it will not work. 

D. The default quorum policy in a two node cluster needs to be set to ignore or it will not work. 

Correct Answer: D 

 

 

QUESTION 14
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Which command will show the status of the initial full synchronization when using DRBD? 

A. cat /proc/sys/fs/status 

B. cat /proc/drbd/status 

C. cat /proc/drbd/currentstatus 

D. cat /proc/drbd 

E. cat /proc/fs/drdb 

Correct Answer: D 

 

QUESTION 15

An administrator needs to shutdown a Xen virtual machine immediately, otherwise, the virtual machine risks corrupting
the file system. Which of the following methods could be used for an immediate shutdown? 

A. Use xm shutdown force 

B. Use xm destroy  

C. Use xm poweroff  

D. Shut down the xend process 

E. Use xm stop  

Correct Answer: B 
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